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# ?2?27?7?27?7??2??Python3. 8# -*- coding: UTF-8 -*-inport jsoninport
osfromPIL inport |Inmage, |nmageDraw, | mageFonti nport randomm
th open('data/sh_sz.txt', 'r', encoding="utf-8-sig', newine
='\r\n') as f: ddd=j son. | oads(f.read())w th open(' data/ ??
??2.txt', 'r', encoding="utf-8-sig', newline='\r\n') as f:
ddd2=j son. | oads(f.read())w th open('data/ ?????2????. txt",
r', encoding="utf-8-sig', newline="\r\n') as f: ddd3=j son
.l oads(f.read()) #### ?2K??2???7?7?7 #H#H#A#H ???7° 7?7 ??H#
0 date ??????? ???2YYYY- MM DD## 1 code ???? ??7?sh. 600

?H# 5 cl ose ?7?7?7? ?2??27????47°?7?°7°°7??74# 6 precl ose ??7??

2 2777222472777272227## 7 volume 2777 ??77## 8 anmount

?? 0??27?2## 12 pct Chg ?7??7?7?7?7? ?2??27?7???67?## 13 peTTM ????
? 0?7?76 # 14 PSTTM 2?72?27 ??2?????26?## 15 pcf Ncf TTM
P77 ?????°?6?2## 16 PbVRQ ?7?7? 7??2?7?7??7?26?2## 17 I SST ??S
T 1?2?20?## 2?7?7207 27?7217 27?7?27 27?7?37 2?7?47 ?7?5?%2## 2?7767
2?7?77 2?7?7787 7?7?7797 ?7??7?107def float _000(a): return O.
Oif a=="" else float(a)rrrl=[]rrr2=[]a="d"for dd in ddd:
#print(dd[0]) #if dd[O][:3]!="of." and dd[4]=="1" and dd
[5]=="1" and dd[O] in ddd3 and dd[O][:6]!="sh. 688" and dd[ O]
[:4]!'="sz.3": If dd[O][:3]!="of." and dd[4]=="1" and dd[5
=="1": #print (dd) I f os.path.exists(f'datal/k_
line {a}/{dd[0]} {a}.txt"): #?2?2?2?27??27 w th open(f
‘data/k _line {a}/{dd[0]} {a}.txt', '"r', encoding="utf-8-sig
, newline="\r\n'") as f: 00o0=j son. | oads(f. read
()) I f ooo! =[] and | en(000) >5: if dd[O][:6
]'="sh.688" and dd[O][:4]!="sz.3": AA=sun(fl o
at _000(o0[12])>=9.8 for o0 in 000) # ?7?7? el se:
AA=sun(fl oat _000(o0o0[ 12])>=19.8 for 00 in 000)
# 27?7 rrrl.append([dd, ooo[-1][5], AA |en(000)]
) if dd[O][:6]!="sh.688" and dd[O][:4]!="sz.3":
VV=sun( fl oat _000(00[12])<=-9.8 for 00 in 000)
# 27?7 el se: VW=sun{fl oat _000(oo0[ 1
2])<=-19.8 for o0 in oo00) # ??7? rrr2. append([ dd,
ooo[-1][5], W, len(ooo)])rrril=sorted(rrrl, key=lanbda x: x
[2]/x[3], reverse=True)print(f"\n???????2??2?220?")for rr inrr
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rif[: 20]: print(f"{rr[O]J[O0]} {rr[O][1]} A{rr[3]}? {rr[1]}
? {round(rr[2]*100/rr[3], 2)}% ) ##print (f"\n???2?2?2?2??2?220?")
##for rr in rrrl[-20:]: ## print(f"{rr[O0][O]} {rr[O][1]}

{rr[3]}? {rr[1]}? {round(rr[2]*100/rr[3], 2)}% )rrr2=sorte
d(rrr2, key=lanbda x: x[2]/x[3], reverse=True)print(f"\n????
?7?7?7?27?22207?" )for rr in rrr2[:20]: print(f"{rr[O]J[O0]} {rr[O]
[1]1} {rr[3]}? A{rr[1]}? {round(rr[2]*2100/rr[3], 2)}%)##pr
I nt (f"\ n??2?22?2?222?220?" ) ##for rr in rrr2[-20:]:## print(f"
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